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QUESTION 1

You are modeling a conditional branch using a Switch element. You choose not to include an Otherwise branch. What is
the result? 

A. A business fault is generated if one of the case branches cannot execute. 

B. A design time error is indicated by JDeveloper. 

C. You need to include fault handler to account for the fact that none of the case branches can execute. 

D. If none of the case branches can execute, control passes to (the next element in the BPEL model. 

Correct Answer: D 

Note: 

* Conditional branching introduces decision points to control the flow of execution of a BPEL process. You can use a
switch activity to produce different actions based on conditional branching. You set up two or more branches, with each
branch in the form of an XPath expression. If the expression is true, then the branch is executed. If the expression is
false, then the BPEL process moves to the next branch condition, until it either finds a valid branch condition,
encounters an otherwise branch, or runs out of branches. If more than one branch condition is true, then BPEL executes
the first true branch. 

 

QUESTION 2

By using the System Component Architecture (SCA) test framework, you can create tests for which three items? 

A. Reference binding components 

B. Service components like a Mediator 

C. Wires 

D. Invoke activities in a BPL process 

E. Composite sensors 

Correct Answer: ABC 

The test framework supports testing at the SOA composite application level. In this type of testing, wires (C), service
binding components, service components (such as BPEL processes and Oracle Mediator service components) (B), and
reference binding components (A) are tested. 

 

QUESTION 3

You want to define a now event to be managed by the Event Delivery Network (EDN). The XSD is in place that defines
the element that is to be the basis of the new event. Which step do you perform next? 

A. Create a new event definition in the SOA Composite Editor. 
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B. Use an editor to create the event using Event Definition Language (EDL) syntax. 

C. Create the now event definition as you configure the invoke activity that publishes the event in your BPEL process. 

D. Use Enterprise Manager to register the new event to EDN. 

Correct Answer: A 

 

QUESTION 4

Which statement is true about editing adapter InteractionSpec endpoint properties with Enterprise manager Fusion
Middleware Control? 

A. InteractionSpec properties can be added or removed, but they take effect only after the composite is retired and
activated. 

B. Adapter endpoint property values can be changed, but they take effect only after the composite is retired and
activated. 

C. Adapter endpoints property values can be changed, and they take effect without retiring and activating the
composite. 

D. InteractionSpec property values cannot be changed. 

Correct Answer: C 

*

 The InteractionSpec or ActivationSpec Properties Properties in this group require the adapter endpoint to be recycled.
The values of properties in this group can be changed from the EM console. However, property-dependency constraint
validation requires that Oracle JDeveloper be used to make changes (adding or removing) to the composition of these
properties. 

*

 The InteractionSpec or ActivationSpec Properties These properties require the adapter endpoint to be recycled. For
properties in this group, you can change their values from the EM console. However, to change the composition (add or
remove) of these properties, you must use Oracle JDeveloper because of property-dependency constraint validation. 

 

QUESTION 5

A customer demands access to your Service Composite Architecture (SCA) application. 

However keeping with the customer\\'s company standards, the interface must be EJB 3.0. 

Which solution meets the needs of the customer while requiring the least amount of time, effort, and architectural
change for you? 

A. Create a small EJB 3.0 application that interfaces directly with your SCA application. This approach hides the web
service interface from your customer while adding the smallest amount of overhead in the process 

B. Create an EJB 3.0 interface using Oracle Service Bus, which, in turn, invokes the SCA application through its native
web service interface. This approach hides the web service Interface from your customer while adding the smallest
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amount of overhead in the process. 

C. Use the Mediator component to provide an EJB 3.0 interface in addition to the existing web service interface. This
approach adds the least amount of overhead to each call. 

D. Explain to the customer the importance and flexibility of modem web services, and encourage the customer to learn
some new skills. 

Correct Answer: B 
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